
C

1

8

7

3

5

11212

14

16

18

15

17

9

4

6

13

10

DETAIL C 
SCALE 1 : 4

TIGHTEN
WING NUT

UNTIGHTEN TO
PIVOT

NO. NOTE DESCRIPTION QTY
1 1305023121 - (19 x 7) x 36 WALL SECTION 6" 1
2 1305023124 - (19) x 36 DOOR 1
3 1305023122 - (7") MOUNTING RAIL, RH 1
4 1305023122 - (7") MOUNTING RAIL, LH 1
5 1305023125 - 5" PIVOT, LH 1
6 1305023125 - 5" PIVOT, RH 1
7 2.5" - 1.5" PROGRESSIVE KNOCK-OUT 4

8 1.5 KNOCK-OUT 4
9 100711 - (21) STANDARD DOOR STIFFNER 2
10 1515 4" FAN CUTOUT COVER PLATE 2
11 1305023127 - (3.5") PIVOTING RAIL, 2RU 2
12 SOUTHCO K4-2833-07 LINK ROTARY LATCH, MEDIUM 1
13 SOUTHCO K4-2338-07 KEEPER 1
14 SOUTHCO 96-10-520-50 OFFSET HINGE, LARGE, LH 2
15 1/4-20 NYLON LOCK NUT 4
16 10-32 x 3/8 PAN HEAD SCREW 8
17 1/4-20 WING NUT 2
18 1/4" PLAIN WASHER 6

C

LowProfile_1305023120_Eng

1:12.8
REV.:

FILE:

WMCLOP-190436

CONFIDENTIEL
L'INFORMATION CONTENUE DANS
CE DESSIN EST L'ENTIÈRE PROPRIÉTÉ
D'ELECTRON METAL A.I.G. INC.  TOUTE
REPRODUCTION PARTIELLE OU EXHAU-
STIVE SANS PERMISSION ÉCRITE D'ELEC-
TRON METAL A.I.G. INC. EST INTERDITE.

5 4 3

Title:

PROJECT:

PART NO.:

2006/03/31
DATE:SCALE:

WallMount\LowProfile

CHECKED BY:

DRAWN BY:

LowProfile_1305023120_Eng

DRAWING NO.:

1305023120

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF 
A.I.G. ELECTRON METAL INC.  ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
A.I.G. ELECTRON METAL INC IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

SHEET:

1 / 2

LOW PROFILE WALL MOUNT 26 x 36 x 10



36"

3 9/16"

2 25/32" 20 15/32"

25 1/2"

2 7/8" 20 1/4"

A

A

B B

FRONT VIEW
DOOR NOT SHOWN

3 1/2"
(2 RU)

24 5/8"

SECTION A-A

26"

10 1/8"

9 15/32"7"
(4 RU)

SECTION B-B

C

LowProfile_1305023120_Eng

1:12.8
REV.:

FILE:

WMCLOP-190436

CONFIDENTIEL
L'INFORMATION CONTENUE DANS
CE DESSIN EST L'ENTIÈRE PROPRIÉTÉ
D'ELECTRON METAL A.I.G. INC.  TOUTE
REPRODUCTION PARTIELLE OU EXHAU-
STIVE SANS PERMISSION ÉCRITE D'ELEC-
TRON METAL A.I.G. INC. EST INTERDITE.

5 4 3

Title:

PROJECT:

PART NO.:

2006/03/31
DATE:SCALE:

WallMount\LowProfile

CHECKED BY:

DRAWN BY:

LowProfile_1305023120_Eng

DRAWING NO.:

1305023120

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF 
A.I.G. ELECTRON METAL INC.  ANY
REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION OF
A.I.G. ELECTRON METAL INC IS PROHIBITED.

PROPRIETARY AND CONFIDENTIAL

SHEET:

2 / 2

LOW PROFILE WALL MOUNT 26 x 36 x 10


	Sheet1
	Drawing View1
	Detail View C (1 : 4)

	Sheet2
	Drawing View2
	Section View A-A
	Section View B-B
	Detail View D (1 : 2)


